o0 X) (um)

o(d x) (um) for PV

o(d x) for merged vertices (um)

Ratio
Ratio

05 =15=16"=5 0 5 10 15 20

Vertex z (cm) Vertex z (cm)

—— DQM_TT__MKFIT_ORIG
—— DQM_TT__MKFIT_MODIF

a(0y) (um)

a(dy) (um) for PV

o(d y) for merged vertices (um)

Ratio
Ratio
Ratio

85 =15=10 5 0 5 10 15 20 20 =15=10 =5 0 5 10 15 20 05 =15=16"=5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

0(0 2) (um)

10°E:

a(d z) (um) for PV

10°[

10?

o(d z) for merged vertices (um)

Ratio
Ratio

-20 -15 -10 -5 0 5 10 15 20 -0 =15 -10 =5 0 510 15 20 %20 -15 -10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

0.9°
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